Slow diode vs Fast diode in Primary clamp of CCM Flyback

e V(vout) = 24 o4
vint K1L2 L4 0.99 %fo e
ﬁ ~ 100p Ri2

LA
UPSC600 0.001
D1
R10
02
V6
ca P Rser=0.01
[I— 22 -
va 100
Rser=0.0/
150
—m2
R2 =
10 STW11NM8(
R1
v2 10k
ser=0.1
T PULSE(0 10 0 10n 10n 5u 14u)
l
~
deV(vout) = 24 o
R15
vin K L1 L3 0.99 110 e
ﬁ ~ 100p R5
LA
UPSC600 0.001
c D4
R16
02
v3
|cs FRser=0.01
L 22 T
v 100
Rser=0.0/
150

R7
10k
—m

R6 =

10 STW11NMS(

4
ser=0.1

T PULSE(0 10 0 10n 10n 5u 14u)

< .tran 0 1.3 0 startup

--- C:\forum\slow dioddd\Flyback primary clamp ccm?2.asc ---



